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In discussions regarding the pros and cons of the 2 methods that are candidates for VCC, an assertion was made (although not supported by any technical documentation) that the IMS Controlled Method was more inefficient (call latency time) due to the transfer of the call from the CS to the IMS and then back.  This assertion was then supposed to be a disadvantage for the IMS Method.

In reality since the actual latency of any call is subject to so many vagaries that the assertion is baseless.  Consider how call setup works when delivering a call to a mobile:

Call routing decisions passes to the SS7 network once the GMSC sends an IAM towards the serving MSC.  From then on, it is subject to the routing algorithms and current traffic in the intermediate network(s).  Thus, it simply is impossible to say that one route is more or less efficient than another.

The assertion also ignores the fact that the IMS can, itself, be used as a transit network.  With the proper location of media gateways, a network operator can handle a cross-country call to a roamer as simply a local call to the serving system.  This potential cost saving is one of the major attactions of IMS.  One might also contrast this scenario with the ODC method, which requires IMS, but then intentionally routes calls out of the IMS because it is “more efficient”.  One wonders why an operator would invest in IMS if that statement were indeed true.

Finally, the assertion assumes that the call came from the PSTN through a separate gateway.  What happens when the E.164 number routes directly to a media gateway?    The answer is, of course, that the two methods have no difference in latency.

In conclusion, an analysis that is more than just cursory reveals that latency/call setup efficiency is simply not a differentiator between the two methods at all.




